F*1-1

440704 YL¥#FX 20214 H 7 BT 5 55 PR X REATPHE 1B LR

s 05E
WX 2021 F R % FRA 2021 EE RS RBBUIHATE
— RS LIRS — RS LIRS
AN ¥ A=B+C B C D=E+F E F
VL X 35. 43 6. 83 28. 60 33.93 5.33 28. 60

TE: L AR b A . ARG ot X T BORF 58 55 PR A5 B AR AT AT 2
2. AR M EG L T7 % BRI RN R R S HERE G —+HA AT,



#*1-2

440704 YL¥§X2021F T BUF — B REZERPE MR

Hifi: (2%
W H TS A PATH
. 20204F K My 5 BURF — o 55 RS B £ 5.33
T 2021 4F AR M T R — A 55 AR AR PR A 6.83
= 20215 T BURF— B 55 RAT A 0.88
o o DY b 1 T B 4 ik 2H 2R A E BURTF B3R
202 LA 10 7 WURF — A5t 27 AT 40 0. 88
VU 202 14F 1 7 BUR — i f1 55 34 A< i 0.88
Ty 202 14E AR M5 BURF— 0ot 55 R AT AT £ 5.33
7S 2022510 7 W BUR 7 0. 00
B 20225 1 77 BUR — M Al 55 R AR A0 0. 00




440704 YL¥ERX2021F# 5 BUFE TR FZFRAE R

il (2%
m H WA PATH

— 202048 K 77 BUR & 01457 55 AR A0S B AL 19.10
Ty 20214 K 75 BUR & 5T 55 AR AR A0 28.60
= 20214 LT BUR & W5 55 K AT A 13.20
VU 202 14F 3 J7 BUR & 3557 55 38 A< 40 3.70
iy 202 VAFE AR 7 BURF & T3 55 AR APl H AT 25 28.60
7N~ 20224 11 77 BUR 4 TU51 55 8 14 LA 0. 00
B 20225 KM 7 BUR & W51 55 R AR At 0. 00




#*1-4

440704 TL¥#g X #h 5 BORFi37 RAT RIE AT BIE MR

il {20

IR H A 21 [X KL
. 20214F RAT T AT L A=B+D 14. 08 14. 08
(—) —fiigs B 0. 88 0. 88
Hodr: PR iR C 0.88 0. 88
() Wik D 13. 20 13.20
Hr: MRbs i E 4. 20 4. 20
T 2021 A TR AT 2L F=G+H 4.58 4. 58
(—) —fiigs G 0.88 0. 88
(=) Lhifiigs H 3.70 3.70
=\ 202154 BT 2 [=J+K 0. 90 0. 90
(—) —Hfisr J 0.19 0.19
(=) Lhifiigs K 0. 70 0. 70
V4. 20224F 10 A il 55 4 L=M+0 0.10 0. 10
(—) —ffiids M 0.10 0. 10
Hodr: FmheE 0.10 0.10
JoF AP R 22 N 0. 00 0. 00
(=) Loifiigs 0 0. 00 0. 00
Hordr: PRt 0. 00 0. 00
oF AP R 22 p 0.00 0. 00
T 202254 B % Q=R+S 1.31 1.31
(—) —ffiigs R 0.20 0.20
(=) Lhifiigs S 1. 12 1.12

e LARR A X AL, b — B T BUR s (SRS 697) RAT SOEARAT B HATE A B 7 BURM R B A4 BIRR S5
2. ARMBH U EITT S PG  TEA RN RAR R AR S —+HA 2T,



